T Llesson 0. Separaﬁon of Varfablc,;_

lo&wo lecture we will be doina More of th same ro!ud
some. a.nﬂylmahon problems .,
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,Exa.mflﬂ 2 A 800 gallon tank_initially contains P
700 dallens of bring containing 25 pdunds of olisss|ves i

salts” Brine containing Y Bounds! lof salt per aullen

flows into  the ‘J‘ank & Hhe ’mf}e of Y Qa”anslpfr‘umi'nwi'c

and the well-stimred mivture flows “out of +he Jank

ot Yhe rode of | qallon per minudes Set up a o Ferodd]

equation for Yhe dmount of sall, A(Y), in the tank at

v

uihitez A

700 3qilang

AN |

Brine In V(0) :?OO} Br;\m Out L
s A(0)=75 | |

Y |bs/gallon | ) gallen /my |
L gallins | BOTE vicFare VI |

Mm . V(1) = amount of lm‘rw mixture in tan M at Hmc;
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AR = amouny  of salt in the Jank o H‘mi(@

t 2z Hme in minutes




AA - [ roke of change of salt) =/rak in\ /[ rak out\

| @ | o N in Fank B Ibs/min) | ofi saly ) \o® salt )
@__@3—-—3\" v [ Y |bs ;\f Y qa“oos\ = |6 lbs
| \ qallens )\ " min i min
Rﬁi)-"ﬁ ‘Well ~stirred ” means each Gallon 'n the tanle
has as_much salt jn i as’ an sy other gallon.
e Salt is unmbPormly mixed in the Bhrine
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When \/(0) = Foo,

700 2 V(o) = 3(0)+ C

700 = C = \/(4) = 34+ + 00
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l“xal i In a par}roulmr‘ chemical peaction , ¢ Subs Fance

P converttd inko o Sécoan substunce at a rafe
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nromrhoM to the square of the amount of the First subghenee

nre,sen} ot any J-Lman Imhﬁ”V/ bO grams of the First

substance wa’
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| hour later only Y Grams

of The first Sul 57Lomec remained, Whet s ﬂz_e amocmi“

of the Pirst substapee r‘emammg atfer F hours?
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